
___N2 + ___H2  ___NH3 

Mole Ratios: 

 

 

 

 

1) 60 mol H2  mol N2 

60 mol H2  mol NH3 

 

2) 12 mol N2  mol H2 

12 mol N2  mol NH3 

 

3) 3.5 mol NH3  mol H2 

3.5 mol NH3  mol N2 

 

4) 54 g H2  g N2 

54 g H2  g NH3 

 

5) 38 g N2  g H2 

38 g N2  g NH3 

 

6) 197 g NH3  g H2 

197 g NH3  g N2 

 

7) 4.12 x 1012 molec H2  molec N2 

     4.12 x 1012 molec H2  molec NH3 

 

8) 7.84 x 107 molec N2  molec H2 

7.84 x 107 molec N2  molec NH3 

 

9) 6.05 x 1057 molec NH3  molec N2 

               6.05 x 1057 molec NH3  molec H2 

 

10) 4.12 x 1012 molec H2  g N2 

4.12 x 1012 molec H2  g H2 
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